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FX 50,482 122,950 60,346 62,604
2 547 1,468 723 745
REFZHT 1,670 4,071 2,102 1,969
A I ET 135 351 191 160
FEHT 999 2,411 1,159 1,252
N 1,252 2,930 1,410 1,520
/IR P ET 241 577 307 270
HRET 1,577 3,772 1,866 1,906
HE 627 1,592 797 795
Tz 1,604 4,127 2,016 2,111
Mazsdt 1,775 4,689 2,319 2,370
T IEET 2,494 6,632 3,203 3,429
EZE 563 1,533 784 749
TERET1T 813 1,887 917 970
TERET2T 776 1,958 977 981
TERET3T 843 2,300 1,135 1,165
TERETAT 440 1,199 588 611
TERETS T 537 1,368 699 669

5 3,409 8,712 4,316 4,396
J\HFH] 791 2,088 1,007 1,081
J\EJLET 2,065 5,172 2,535 2,637
J\AFEETT 5 8 5 3
J\EBFEET2T 1,226 2,731 1,282 1,449
J\AFEET3T 471 1,106 565 541

5 1,702 3,845 1,852 1,993
J\HFE ZHT 478 816 376 440
®/\H 483 1,082 530 552
B 2,089 5,197 2580 2,617
EH 801 1,919 980 939
RFFILET 2,263 5,552 2,690 2,862
R FFIRET 1,583 3,218 1,560 1,658
PRI E K AT 2,582 6,006 3,025 2,981
PRI R HET 3,199 7,756 3817 3,939
I LT 917 2,222 1,094 1,128
PRI RHET 1,006 2518 1,274 1,244
BRI KET 1,336 3,058 1,558 1,500
xR 2,257 5,905 2,952 2,953
12H 4925 12,613 6,144 6,469
KE 673 1,425 670 755
¥E BT 1,491 3,771 1,894 1,877
REr 331 728 346 382
= [EAT 2617 5,194 2269 2,925
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